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i) General Awareness

International day of sign language is
observed every year on

(A) 23 September

(B) 2" March

(C) 12" April

(D) None of the above

Recently Government of India has
launched the UMMID initiative to tackle
which of the following disease type of
new born babies ?

(A) Inherited genetic disease

(B) Polio disease

(C) Cholera disease

(D) None of the above

‘Global Assessment of Forest Biodiversity’
report has been released by

(A) World Wide Fund for Nature

(B) The Nature Conservancy

(C) Global Forest Coalition

(D) None of the above

Which of the following recently designated
as a national agency that shall be
responsible for carrying certification
for instruments and equipment for
monitoring emission and ambient air by
the Ministry of Environment, Forest and
Climate Change ?
(A) Botanical Survey of India (BSI).
(B) Council of Scientific and Industrial
Research-National Physical
Laboratory (CSIR-NPL)
(C) Zoological Survey of India (ZSl)
(D) None of the above

5. Which of the following Ministry recently

released the AISHE (All India Survey on
Higher Education) report ?

(A) HRD Ministry

(B) Women and Child Development
(C) Rural Development

(D) None of the above

What is the main objective of Participatory
Guarantee Scheme (PGS) of Government
of India ?

(A) A process of certifying organic
products, which ensures that
their prbduction takes place in
accordance with laid-down quality
standards

(B) A process of certifying skilled
workers in the country

(C) A process of certifying MSME
industries in the country, which
ensures that their production takes
place in accordance with laid-down
quality standards

(D) None of the above

National Deworming Day is observed

every year to administer the medicine (in

the form of chewable tablet) against

(A) Soil transmitted helminths

(B) Water transmitted cholera virus

(C) Water transmitted entamoeba
histolytica

(D) None of the above
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(A) ST Fegfa gae (BSI)

(B) St 3R TENfe STgHaH Tiwe-
T e s@rEmen (CSIR-NPL)

(C) WGy Sfafas™ ga&vr (ZSI)

(D) 3 H & Hig A8
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8.

10.

What is the main objective of Financial
Action Task Force (FATF) established
by G7 countries ?

(A) To set standards and promote
effective implementation of
legal, regulatory and operational
measures for combating money
laundering, terrorist financing
and other related threats to the
integrity of the international financial
system

(B) To implement economic sanction
against terrorist financing nations

(C) To provide economic assistance to
Latin American countries

(D) None of the above

Which of the family of virus causes
the Kyasanur Forest Disease (KFD)
also commonly known as the monkey
disease ?

(A) Flaviviridae

(B) Togaviridae

(C) Polyomaviridae

(D) None of the above

Which of the following State is the
largest producer of silk in India ?

(A) Karnataka

(B) Bihar

(C) Kerala

(D) None of the above

11

12.

13.

14.

15.

What is the main objective of REPLACE

campaign by WHO ?

(A) Eliminate industrially produced
artificial trans fats from the global
food supply by 2023

(B) Eliminate TB disease by 2020

(C) Eliminate Malaria in South Asia
by 2022

(D) None of the above

Kuttanad in Kerala is famous for

(A) Below sea level farming systems
(B) Above sea level farming systems
(C) Hill top farming system

(D) None of the above

Who is the present Cabinet Minister of
Panchayati Raj ?

(A) Arjun Munda

(B) Ram Vilas Paswan

(C) Narendra Singh Tomar

(D) None of the above

The state capital of Manipur is
(A) Ranchi

(B) Imphal

(C) Shillong

(D) None of the above

Who is the present Chief Minister of
Tripura ?

(A) Kamalnath

(B) N. Biren Singh

(C) Biplab Kumar Deb

(D) None of the above
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10.
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B (FATF) FI T S A& ?

(A) T AT SATaeRaTE 3 farm T 3T
i fof gorrett i srgear
T ¥ TEiYUd FA=A1 H AT HE
% foru faftres, frames 3t gfEem
3l % fore Aees fuifa =@ ik
gHTEl T 1 FeEl 4 & foru

(B) Aears i fEaamn s e U &
foreg, anfiien e i %6 &g

(C) wfea mfeht <umi =i enfeds wema
g

(D) 3 & & Fg T

fammopatt & farm afEm @ F@E 37 W1
(KFD) 5@ omm=1 &9 & siex Ut oft Feat
g, eare ?

(A) wrtETEiE

(B) st

(C) WfermrarsdEh

(D) 3% H & =g el

Fraferfea & @ -1 Ty 9Ra 1 gl
1 I IAEH TT & 2

(A) FARCH

(B) femm

(C) Fa

(D) 3o H T IS A

%

12.

13.

14.

15.
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WHO % REPLACE #11¥aH 1 §&g @&

R ?

(A) 2023 7% fTa® @@ smyfd @
Jtenfier saurfea Fhm 7w % =i
I fer Rl

(B) 2020 s Zisft T =1 I

(C) 2022 T Bferor Tirn & weifeE &

I
(D) 3% H & FI3 Tal

FEAgeae __ FfeuaiEE e
(A) TYE Sie TR H e Y o
(B) THE STl TR ¥ HYT Y Jurett
(C) v iy Jumeft
(D) 3% H & IS Tl

FAHT eIt TS e Wl R 2
(A) 3 He

(B) W oo urwam

(C) Tz faedame

(D) 3% # @ s T

Hforq it T TS BA-E R 2
(A) T

(B) T

(C) fararim

(D) 35 8 & HI3 Tl

g =1 gewst FdeE E #E § 2
(A) FATY

(B) . for fae

(C) feueta FAR <&

(D) 3% H & IS A
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16.

17.

18.

19.

20.

Who is the present Chairman of UGC ?
(A) Rekha Sharma

(B) Nripendra Mishra

(C) Dhirendra Pal Singh

(D) None of the above

International Literacy is celebrated
every year on

(A) January 3"

(B) October 2™

(C) September 8th

(D) None of the above

The book One Night at the Call Center
is written by

(A) Chetan Bhagat

(B) Aravind Adiga

(C) Arundhati Roy

(D) None of the above

G-20 summit 2020 will be held at
(A) USA

(B) Saudi Arabia

(C) Japan

(D) None of the above

What is DRDO stands for ?

(A) DetenceResearchandDevelopment
Organisation

(B) Defence Radar Development

Organisation

(C) Defence Regional Development
Organisation

(D) None of the above

21.

22.

23.

| 00 OO OO

What is the primary objective of

Recognition of Prior Learning (RPL) of

Pradhan Mantri Kaushal Vikas Yojana

(PMKVY) ?

(A) Assessing and certifying the
agricultural products which was
grown on organic way

(B) Assessing and certifying the skills
of informal sector workers

(C) Assessing and certifying the soils
in the agricultural field

(D) None of the above

GER is a statistical measure used in
the education sector. What is GER
stands for ?

(A) Gross Enroliment Ratio

(B) Gross Education Ratio

(C) General Enroliment Ratio

(D) None of the above

Which of the following Indian cricketer
launching a campaign in partnership
with WWF India and Animal Planet
to help build awareness for the need
to conserve the Indian one-horned
Rhinoceros ?

(A) Rohit Sharma

(B) K.L.Rahul

(C) Hanuma Vihari

(D) None of the above
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() #iz urat fa
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(A) 3SHad

(B) 2 AR

(C) 8faasr

(D) 3% H I3 A&

TEF AR WIHRATX %
gmfadimel

(A) < ST

(B) 3fag sifen

(C) =wufd Ua
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G-20 TS 2020 7B |
(A) JEET
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(C) SmIH
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(A) Teha frad te feaaie afiAmgaem
(B) feha Trer feamurie sitimmesy=
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SEHEAT e fasE T (PMKVY)

o 98 =T I I 1 Ui wey

FE?

(A) Sfee 9 ¥ IMT T FHY Il H
AT 3T THI0A

(B) I &3 o FHHATE o hivTel
1 eI SR JHVH

(C) N &= o 7aT ol Yoaieh 3R yHIoH

(D) 3% 4 T H13 4

foren % &= % yga v wiferdt
GER o1 foreror &9 &1 ® 2

(A) TG TRIeHE Rr

(B) TTE Ty UM

(C) e TieTHe Imn

(D) 3% ¥ & FIg e

Frfiri 3 & -3 el Bt WWF
WRE 3R Tfime wiHe % 91y arEent |
I s i ot 7 i g s i
HTITIHAT &g ST T 3 o1 SRR
TEREE 2

(A) Tfea ymi

(B) . Uel. Ug

(C) = farerdt

(D) 3% d & F1g Tl
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24.

25.

26.

Consider the following statements
about Global Assessment of Forest
Biodiversity by WWF.

1. There has been a 95 per cent
decline in the number of forest
wildlife populations since 1970.

2. Major threats for the decline in
wildlife populations are Habitat loss
and habitat degradation/change,
Exploitation and Climate change.

(A) Both the statements 1 and 2 are
correct

(B) Only the statement 1 is correct
(C) Only the statement 2 is correct
(D) None of the above

Which of the following Committee
constituted to boost digital payments
and enhance financial inclusion ?

(A) Nandan Nilekani Commitiee
(B) Praveen Kutumbe Committee
(C) U. K. Sinha Committee

(D) None of the above

Consider the following statements
about TPC (Total Polar Components)
in cooking oil.

1. Polar components are formed in
cooking oil during frying of foods in
that oil.

2. The toxicity of TPC are associated
with several diseases such as hyper
tension, atherosclerosis etc.

(A) Both the statements 1 and 2 are
correct

(B) Only the statement 1 is correct

(C) Only the statement 2 is correct

(D) None of the above

27.

28.

29.

30.

31.

A 00O O

India’sfirstand indigenous microprocessor
“Shakti” developed by

(A) IIT Madras

(B) IIT Khanpur

(C) IT Delhi

(D) None of the above

Dengue, Chikungunya and Zika spread
to people commonly through the bite of
an infected

(A) Culex species mosquito

(B) Anopheles species mosquito

(C) Aedes species mosquito

(D) None of the above

Which of the following is the largest rice
producing state in India ?

(A) Karnataka

(B) West Bengal

(C) Kerala

(D) None of the above

Which of the following Indian athlete
recently awarded with IAAF Veteran Pin
Prize ?

(A) P.T.Usha

(B) Dipa Karmakar

(C) Ashwini Ponnappa

(D) None of the above

SHREYAS Scheme of government of

India aims

(A) To provide industry apprenticeship
opportunities for engineering
students in European countries

(B) To provide industry apprenticeship
opportunities to graduates in
non-technical fields, passing out
from the NAPS

(C) To provide economic support for
backward classes students to
pursue higher education

(D) None of the above
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T AT § ;

(A) U <= | Seifafon s
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32.

33.

35.
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Which of the following country recently lost
first of the country’s hundreds of glacier,
Okjokull glacier due to climate change ?

A) lceland

C
D

(A)

(B) Canada
(C) India

(D) None of the above

Who is the present Cabinet Minister of

Corporate Affairs ?
(A) Nirmala Sitharaman

(B) Ravi Shankar Prasad
(C) Nitin Gadkari

(D)

D) None of the above

The state capital of Mizoram is
(A) Aizawl
(B) Kohima
(C) Jaipur

(D) None of the above

Who is the present Chief Minister of
Meghalaya ?

(A) Conrad Kongkal Sangma
(B) Raghubar Das
(C) Jai Ram Thakur
(D)

D) None of the above

36.

37.

38.

39.

40.

0 000 OO0

Who is the present Chairman of National
Green Tribunal (NGT) ?

(A) Adarsh Kumar Goel

(B) Lokeshwar Singh Panta

(C) Swatanter Kumar

(D) None of the above

The Engineering community across
India celebrates 15" September as an
Engineer’s day to give tribute to

(A) Mokshagundam Visvesvaraya
(B) Satish Dhawan

(C) E. Sreedharan

(D) None of the above

The book INDIA : PRIORITIES for the
FUTURE is written by

(A) Bimal Jalan

(B) Jawaharlal Nehru

(C) Mehatma Gandhi

(D) None of the above

In which of the following State Bhadra
Wildlife Sanctuary is situated ?

(A) Karnataka

(B) Goa

(C) Maharashtra

(D) None of the above

G-20 summit 2022 will be held at
(A) Brazil

(B) India

(C) Japan

(D) None of the above
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32.

33.

34.

35.
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FrferRaa & @ for 3w 3 a1t 1 8 Sierang
qREdT & HROT Y el TANRR | &
Attt ™RER @l fear g 2

(A) IEEE

(B) AT

(C) wrRa

(D) 3% | | IS &

FHRIRE HHAT 1 FaTH Fore T AR 2

(A) Tovden darm=
(B) U v yETE
(C) Tfom et
(D) I H | HI§ e

it it 159 TeuE ?
(A) ITESTETe

(B) =ifeHn

(C) SAg

(D) 35 # & =1 T

HETE 1 JAHH JEIH hiF § 2
(A) HIE FHTeHS HTHT

(B) W=

(C) SITH TP

(D) I H @ g TE

36.

37.

38.

39.

40.
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U 'iE wifteor (NGT) =1 adam
JLIF FH B ?

(A) TRl HHR e

(B) wirhvar f&s g

(C) &R FAR

(D) 3% H G i3 A&l

WG 1 STaRn v 15 fiadat
F THA e & fore sehfaeR
g wamar 21

(A) HierTen favavata
(B) TlyT g5

(C) %. situ®

(D) 35| | hig &I

“3fea : SRS B 3 R GE
g foreht 718 2|

(A) Tome s

(B) SETEATH 48€

(C) weTewT Tt

(D) 3% # & IS Tel

Fr=faRes @ @ frm osg 8w s e
FR fRra R ?

(A) FAlEH

(B) T3

(C) weTTSg

(D) 3% A & HIg T

G-20 THIEH 2022 T g
(A) STSite

(B) WRd

(C) ™

(D) 3% H | g &l
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i) General Intelligence and Reasoning Ability

41.

42.

43.

44.

46.

-12-

Complete the analogy.
Cow: Calf : :

(A) Lion:Cub

(B) Dog : Kitten

(C) Cat: Puppy

(D) Hen : Duckling

Bangalore is to Karnataka as ? is to
Tamil Nadu.

(A) Cochin
(B) Chennai
(C) Coimbatore
(D) Coonoor

Select the pair in which the numbers are
similarly related as in the pair 5 : 25.

(A) 7:28 (B) 8:32
(C) 6:36 (D) 9:36

Select the words which are least like
other words in the group.

(A) Orange (B) Banana
(C) Grapes (D) Potato

Select the number which is different
from rest three.

(A) 29
(C) 79

(B) 59
(D) 99

Select group of letters which are
different from others.

(A) SPM (B) OLI
(C) YVS (D) FDA

47.

49.

50.

51.

O 0O O O 0

MUMBAI : LTLAZH : : DELHI : ?
(A) BCKGH
(B) CDKGH
(C) CDKGG
(D) IHLED

Complete the series.

3,6, 9, 12, 15; 18:24,24,27. 7
(A) 31

(B) 29

(C) 30

(D) None of these

Find the missing letters that will complete
the series.

mn__m_n_mn_m
(A) nmnmn

(B) mmmmm

(C) nmmnm

(D) nnnnm

In a certain language if ‘PENCIL’
is coded as ‘LICNEP’, then how is
‘ERASER’ coded ?

(A) RESRAE
(B) REASRE
(C) RESARE
(D) RESEAR

If E =5, PEN = 35, then PAGE = ?
(A) 28 (B) 29
(C) 36 (D) 27



41.

42.

45.
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ii) AR igwn aun afhes araar

TSI 9o | 47. MUMBAI : LTLAZH : : DELHI : ?
Cow :.Calf:: (A) BCKGH
(A) Lion: Cub (B) CDKGH
(B) Dog : Kitten C) CDKGG
(C) Cat: Puppy ©)
(D) Hen : Duckling (21 LR
Wik 2R S e S 48. @ Ul H |
PEoR L L 3,6,9, 12,15, 18,21, 24, 27, 2
& Sk (A) 31

(B) 29
®) % (©) 30
(C) (D) FH &= T
(D) FX |

49. W I Hl A FGe F

Te g g R 5 : 25 T i |
TEE | mn__m_n_mn_m
(A) 7:28 (B) 8:32 (A) nmnmn
(C) 6:36 (D) 9:36 (B) mmmmm

(C) nmmnm
T8 Y168 AT S TR & I VeaT F geE (D) nnnnm
FH THear e | '
s 5 50. T I H AR ‘PENCIL’ & ‘LICNEP’
o m Pl 8, T ‘ERASER'’ 3l % T 811 2
() T BT (A) RESRAE
. (B) REASRE
gem gu st s AR & fima |
A) 20 ®) 59 (C) RESARE
©) 79 (D) 99 (D) RESEAR
E————Y e IR E = 5, PEN = 35, 8 PAGE = ?
(A) SPM (B) OLI W a8 ® 28
(C) YVS (D) FDA (C) 36 (D) 27
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Shréyas went 15 meters to East, he
turned left and walked 10 meters. He
turned again right and went 30 meters. He
again turned right and walked 10 meters.
How far is he from starting point ?

(A) 30 meters
(B) 15 meters
(C) 45 meters
(D) 40 meters

BEGK is related to ADFJ in the same
way as PSVY is related to

(A) ORUX
(B) OTUZ
(C) ROUX
(D) LOQT

In a dictionary which of the following
words will appear last ?

(A) Pen

(B) Pentagon
(C) Penguin
(D) Pencil

Inthe series 3452116317413
524116531 how many pairs of
successive numbers have a difference
of 2 each ?

(A) 6
(B) 5
(C) 8
(D) None of these

56.

57.

58.

59.

O 5

In a certain code language, ‘134’ means
‘good and tasty’, ‘478’ means ‘see good
pictures’ and ‘729’ means ‘pictures are
faint’. Which of the following digits stand
for ‘see’ ?

(A) 8 (B) 9
(C) 2 (D) 1
If + means —, — means +, x means +,

+ means x then what will be the values
of 50 x5+6—-7+8+47

(A) —20

(B) —21

(C) 0

(D) None of these

There are five books K, L, M, N and O.
The book M lies above N. The book O
is below K, N is above K, L is below O.
Which is at the bottom ?

(A) K (B) L
(C) M (D) N

Find the missing number.

2 | 3| 4
5| 4|3
5| 5|5
50 | 60 | ?

(A) 50

(B) 60

(C) 70

(D) None of these



52.

53.

55.
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o 15 Hiet g # S &, 9% A g
3R 10 WX Ierel © | 518 J: 34 &1 § 37N
30 HiXST ® | 98 A: &1 et & 3R 10 e
T | T SR g & R R 2
(A) 30X

(B) 15X

(C) 45H=

(D) 40 HiX

BEGK ¥ ADFJ Tsiftra 2, 38 ¥R PSVY
Y a2

(A) ORUX

(8) OTUZ

(C) ROUX

(D) LOQT

T YTS5ehIN H (A eTa o & ShieT Y165 Terd
37d § 3@ ?

(A) Pen

(B) Pentagon

(C) Penguin

(D) Pencil

Al 34521163174135241
1653 17 o sormTa Hemadi & 3w W
a2 w w7

(A) 6

B) 5

(C) 3

(D) T & g e

56.

57.

58.

59.
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et e wmeT ¥ 134’ %1 WA« ‘good
and tasty’ &, ‘478' & Haad ‘see good
pictures’ % 3R 729’ F Hae™ ‘pictures
are faint' & | iefofaa R @ FR A
e ‘see’ 82
(A) 8

() 2

(B) 9
(D) 1

IR+ AR —, IR+, xF A+,
+H AL xB, W50x5+6-7+8+4
1 WH T8 ?

(A) —20

(B) -21

(C) 0

(D) T & 13 e

uie g& K, L, M, N 3R O & | &%
M, N3 SR ? | J& O, K& 1=, N, K
%S, L, O % A9 ¥ | T= e St
T € ?
(A) K
€) M

(B) L
(D) N

T HE [0 |

2| 3| 4
5| 4|3
5 5|5
50 | 60 | 2
(A) 50
(B) 60
() 70
(D) ¥8 & I8 T
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60. Find the missing letter.

61.

62.

63.

64.

Y | X

M| L

2 | E
(A) F (B) H
C) I (D) J

Cattle : Herd : : Sheep : ?
(A) Flock

(B) Swarm

(C) Shoal

(D) Mob

Tokyo is to Japan as ? is to Ottawa.
(A) Canada

(B) Mexico

(C) Cuba

(D) Egypt

Select the pair in which the numbers are
similarly related as in the pair 8 : 2.

(A) 29:3 (B) 121
(C) 18:4 (D) 25:5

Select the words which are least like
other words in the group.

(A) Ruby
(B) Python
(C) Windows
(D) Perl

65.

66.

67.

68.

69.

70.

AR 0 O 0 IIIIIEEIMNIHIIIIIIIIIIIIIIII

Select the number which is different
from rest three.

(A) 2
) 5

(B) 3
D) 8

Select the group of letters which are
different from others.

(A) ZUQNL (B) XSOLJ
(C) RMIFD (D) VROML

Choose the word which is least like the
other words in the group.

(A) Marigold (B) Apple
(C) Lily (D) Rose

Complete the series.

0,1,1,2,3,5,8 2, 21,34
(A) 12
(C) 16

(B) 13
(D) 17

Find the missing letters that will complete
the series.
m_m_m__mm_m_m__m
(A) mnmnmnmn

(B) nmnmnmnm

(C) nnnnmmmm

(D) none of these

In a certain language if ‘PENCIL’
is coded as ‘NEPLIC’, then how is
‘CARBON’ coded ?

(A) NOBRAC  (B) CARNOB
(C) RACNOB (D) NOBCAR



0 1 0 OO 0

60. T H&R I FH |

61.

62.

63.

64.

47~

Z|Y | X
N|[M]|L
G| 7?2 |E
(A) F (B) H
C) I (D) J

Cattle : Herd : : Sheep : ?
(A) Flock

(B) Swarm

(C) Shoal

(D) Mob

ifral SuE 9 3 YR geata & g
TR ? JEET ¥ |

(A) FATET

(B) wfegent

(C) =gan

(D) fra

I8 I T e weam 34t YR aaE
REyerRg:2gm AT |

(A) 29:3 (B) 1:1

(C) 18:4 (D) 25:5

IE Y154 FHT S YT % 31 ¥eal o qerd
w4 T et |

(A) ®fs

(B) drged

(C) fae=r

(D) v

65.

66.

67.

68.

69.

70.
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e T g S 31 1 | e |
A) 2 (8) 3

(C) 5 (D) 8

&R 1 I T8 gT ST 7= & R e
(A) ZUQNL (B) XSOLJ

(C) RMIFD (D) VROML

I8 Y158 T ST g F 1 YIedl § T
=M Toe & |

(A) Afciiere (B) W

() fafa (D) TS
TEAT 01 ot |
0,1,1,2,3,5,8,?,21,34

(A) 12 (B) 13

(C) 16 (D) 17

T &R A L ST e gl wa |

m_m_m__mm_m_m__m
(A) mnmnmnmn
(B) nmnmnmnm

(C) nnnnmmmm

(D) T &+ T

T W91 H I ‘PENCIL’ 31 %2 ‘NEPLIC’
for@n st 2, o 3aH ‘CARBON’ #1 %2
T ET ?

(A) NOBRAC
(C) RACNOB

(B) CARNOB
(D) NOBCAR
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71,

72.

73.

74.

75.
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Rahul told Anand, “Yesterday | defeated
the only brother of the daughter of my
grandmother”. Whom did Rahul defeat ?

(A) Son (B) Father
(C) Brother (D) Cousin

| travelled 3 kms Southwards, then
turned right and travelled 5 km. Then
turned right and travelled 7 km. In which
direction was | travelling last ?

(A) East (B) West
(C) South (D) North

Floor, walls and room can be represented

® (00
e OOO

©
o (D

In a dictionary which of the following
words appear last ?

(A) Curiosity (B) Curtosy
(C) Curator (D) Curtain

Inthe series 7577517551175
5111177751751 15howmany
pairs of successive numbers have a
difference of 2 ?
(A) 6
€) 7

(B) 4
(D) 5

76.

77.

78.

79.

80.

A5 0

Ronan ranked ninth from the top and
thirty eighth from the bottom in a class.
How many students are there in the
class ?
(A) 45 (B) 46
(C) 47 (D) 48
fA=5B=8 C=2andD=10then
A+DxB+C-D="7
(A) 50 (B) 55
(C) 40 (D) 35
Sixfriends A, B, C, D, E and F are sitting
in a closed circle facing the centre. E is
to the left of D. C is between A and B,
F is between E and A. Who is to the left
of B?
(A) D B) C
C) A (D) F
Find the missing number.

? | 13149

9 |17 |69

13|11 |59
(A) 9 (B) 5
(C) 10 (D) 21
Find the missing letter.

B[G[N
D[J][R
G[NT?
(A) W (B) X
) V (D) U
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71.

72.

73.

74.

75.
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Uge 4 3 § Fel ‘&l B 71 qrelt <Y
T a9 T | Tg A R
T2
(A) T
(C) Wi

(B) fuar
(D) == WTE

7 3 for.oft. afeqor Y 3t m, fR and
qeT 3R 5 AT = | g get i
7 Tt = | B o | e fesn g =en 2

(A) T (B) dfesm
(C) sf&mr (D) 3|

wul, dar 3 FH
T9IfT o1 # |

® (00
@ OOO

©
o (D

T Yeaw ¥ fEfoifiga # @ e wse
TEY o7 H AT R ?
(A) Curiosity

(C) Curator

FEIH

(B) Curtosy
(D) Curtain

@A 757751755117551111
77751751 154 fora swamd geansi

Fgm U E Sr e 2 w1 st @ 2
(A) 6 (B) 4
C) 7 (D) 5

76.

7.

78.

79.

80.
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UF FE § U &1 H SR Y Jaf o
f= @ 384T e | wen d fope fenef £ 2

(A) 45 (B) 46
(C) 47 (D) 48

A A=5B=8C=23RD=10d
A+DxB+C-D="?

(A) 50 (B) 55
(C) 40 (D) 35

®: I3 A, B, C, D, E 3l F 3¢ &t 3ir
T HF FH AR I A 43T |E, DFH TR |
C,ASRBFHEER |F,ERAFTIER |
B % T S & 2

(A) D B) C
C) A (D) F

o AT 1 H |

? [ 1349
9 |17]69
13| 1159
(A) 9 (B) 5
(C) 10 (D) 21

T HER T |
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81.

82.

83.

0 0

iii) Arithmetical and Numerical Ability

Two poles of heights 6 m and 11 m
stand on a plane ground. If the distance
between the feet of the poles is 12 m,
the distance between their tops is

(A) 11m

(B) 5m

(C) 18m

(D) None of these

Value of cos48° — sin42° is
(A) 2

(B) -2

(C) 0

(D) None of these

1+cot? A
1+tan A

(A) tan?A

(B) 1

(C) cot?A

(D) None of these

The angle of elevation of the top of a
tower from a point on the ground, which
is 30 m away from the foot of the tower
is 45°, the height of the tower is

(A) 45m
(B) 30m
o)

(C) 30"

(D) None of these

85.

86.

87.

88.

A relation between x and y if the points
(x,y), (1, 2) and (7, 0) are collinear is
(A) x+y=1

B) x+3y=7

(C) x-3y=7

(D) None of these

The distance between the points
A(a, b) and B(-a, -b) is

(A) 2ab

(B) 4ab

©€) a?+b?
(D) 2va?+b?

AABC and ADEF are similar triangles
and their areas are 64 cm? and 121 cm?
respectively. If EF = 15.4 cm, then BC =

(A) 9cm

(B) 10.2cm
(C) 11cem
(D) 11.2cm

If the sum of first 14 terms of an 'A.P. is
1050 and its first term is 10, then 20t
term is

(A) 1980
(B) 200
(C) 1090
(D) None of these
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MKG-XXV/GENWO/1T/02

iii) TERTTUT Ue HEaTee gt

a8 6HieRd 11 Het s 3 @Y uF Thae
A W @S ® | Ife @9 & qat & g
a?r%ﬁmma%,a‘rm%sﬁa’f%aﬁaﬁ
=

(A) 114t
(B) 5.
(C) 13+
(D) ¥ & =3 TE

COS48° — Sin42° T AH 2
(A) 2

(B) -2

©) o

(D) T8 & 1§ ALk

1+cot?A
1+tan?A
(A) tan2A
B) 1

(C) cotA

(D) T8 & g T

WA W U fo9g 8w ot & i &
IFTA HIVT 45° B, S TaT & =Taq 91
" 30 @R, T A T R

(A) 45t
(B) 30.

(C) 51'6 i

(D) T & =t e

85.

86.

87.

88.

x 3R y % 1= v ey, Al fgatt (x, y),
(1, 2) 3T (7, 0) TR &

(A) x+y=1

B) x+3y=7

(C) x-3y=7

(D) T8 & 1 T

forgati A(a, b) 3R B(—a, -b) Fftar gl &
(A) 2ab

(B) 4ab

© Va?+b?

(D) 2va2+b?

AABC 3R ADEF 5% 3yl € 3R 37

TGS FHI: 64 .2 3R 121 F.1.2
2 1aREF=1548H., AIBC =

(A) 9T,

(B) 10.2@ ..
(C) 117,
(D) 1127,

Ife U GHIER I21 F I8 14 USI 1 I
1050 3R 39 YB1 9E 108, @1 20 &
TR

(A) 1980
(B) 200
(C) 1090

(D) 3 & =S T
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The smallest number which when
increased by 20 is exactly divisible by 90
and 144 is

(A) 700
(B) 740
(C) 900
(D) none of these

The 17" term of an A.P. exceeds its
10" term by 7. The common difference
will be

(A) =1

(B) 2

(C) 1

(D) None of these

Two water taps together fill a tank in
9% hours. The tap of larger diameter

takes 10 hours less than the smaller
one to fill the tank separately. The time
taken by the small tap is

(A) 20 hours
(B) 25 hours
(C) 15 hours
(D) None of these

The ages of 2 sisters are 11 years and
14 years. In how many years will the
product of their ages be 304 ?

(A) 6years
(B) 4 years
(C) 5years
(D) None of these

93.

94.

95.

96.

0 O

One year ago, a man’s age was 8 times
that of his son. Now, his age is equal to
the square of his son. The present age
of him is

(A) 36 years
(B) 64 years
(C) 49 years
(D) None of these

The value of m if (x — 3) is a factor of
4x2 — B6x—mis

(A) 45
(B) 36
(C) 18
(D) 20

Which among the numbers

9 W2 .. . ..
343, —, ——, 1 isirrational ?
4 2
9
A et
(A) 2

—2
(B) &

€) 1

(D) 343

LCM of 8,9 and 25 is
(A) 3600
(B) 360
(C) 180
(D) 1800
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90 9 144 § qotqan fafra & st 8
(A) 700
(B) 740
(C) 900

(D) T @ g e

e GHIOX At &1 1791 92 39% 104 92
¥ 7 A ¢ | R SR

(A) -1

(B) 2

(©) 1

(D) ¥ & 1S e

A It ¥ el U AT O S gguﬁ

WA 8 | 92 U ITel 7 BIS T Hi
STUETT ITT-IT WA | 10 ° 7 Al
T | B 7 g foran S aen aHa @

(A) 209
(B) 25921
(C) 15%
(D) T A IS T

2 &l 3g 11 98 SR 14 99 § | fhem
Nt & I 1Y T OB 304 BT 2
(A) 6ad

B) 4%

(C) 539

(D) T & g e

MKG-XXV/GENWO/1T/02

93. UF 9% Y4, UF Afad I I 35 G7

TG i 13 om ot | I IGHI G IFh
T Y ST H A E | SR T G B

(A) 3634
(B) 644
(C) 49T
(D) 398 @ s el

94. m 1 UH T2 A (X — 3), 4x2 — 6x —m A

95.

96.

TF PH TS 7
(A) 45
(B) 36
(C) 18
(D) 20

33,2, :% R wp . v
22

9
W 7

—/2

B )<
4 J2
©) 1

(D) 343

8, 9 31K 25 1 =T &
(A) 3600
(B) 360
(C) 180
(D) 1800
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97.

98.

89,

100.

The sum of the zeroes of the polynomial
X2 +7x + 10 is

(A) 7
(B) 10
(C) -7
(D) None of these

lf3x—y=3andx+y=5,then (x,y) =
(A) (2,3)
B) G.2)
(€) (1.1)
(D) (0,0)

It is given that, in a group of 3 students
the probability that 2 students are not
having the same birthday is 0.992. The
probability that the 2 students have the
same birthday is

Curved surface area of a cylinder of
height ‘h’ and radius r’ is

(A) mrh

(B) 2mnrh

(C) nr?

(D) None of these

101.

102.

103.

100 OO OO O O R

The firstand the lastterms of an A.P. are
17 and 350 respectively. If the common
difference is 9, sum of these numbers
from 17 to 350 in A.P. is

(A) 6973
(B) 7000
(C) 5973

(D) None of these

A sum of ¥ 700 is to be used to give
7 cash prizes to students of a school for
their over all academic performance. If
each prize is ¥ 20 less than its preceding
prize, the value of last price of least
value is

(A) 20
(B) T 40
(C) 60
(D) None of these

The roots of the quadratic equation
2x%2 -2J2x +1=0 are

=1

NN
1

(B) —2,J§

1 1
© 7%

(D) None of these
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TEYEH X2 + 7x + 10 YA HI AT 8
(A) 7

(B) 10

C) -7

(D) T & FrE e

31%3x—y=33ﬂtx+y=5,?ﬁ(x,y)=
(A) (2,3)
B) 3.2
€ (,1)
(D) (0,0)

e oo man 2 13 3 foenfefal & v qe o
2 faenfdf 1 v & 5 fegm 7 81
TRkt 0.992 B | 2 faanfifai 1 o= &
st feam g9 it wifierar 2

(A) 0.08
(B) 0.8
(C) 0.008

(D) ¥ & IS TE

F b R B v IR T S FaH
TS &S &

(A) mrh

(B) 2nrh

(C) mr2

(D) ¥4 § FIE e

101.

102.

103.

MKG-XXV/GENWO/1T/02

T GHIG Ae1 1 J9H 3R 3ifaq ug Faer:
17 3R 3502 | IR G TR O R, 178
350 T 3 HEA1A1 I GHAL AS § i &
(A) 6973
(B) 7000
(C) 5973

(D) 3 & S &

X 700 =1 O TR =61 U forerer o feremfofa
o T S foTeh fva1e B 7 e EERR A
& fore s fora s @ | 9f e g
foset [OhR ® 3 20 %9 2, @ e 4o
% e [ Hr afT R 2

(A) %20

(B) %40

(C) %60
(D) ¥ & g el

foma T 2x2 —-2v2x +1=0 &
I &
1 1
N 5B
®) _T:;‘E
11
(C) NN
(D) 98 © =is &
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104.

105.

106.

107.

108.

The altitude of a right angled triangle is
7 cm less than its base. If the hypotenuse

is 13 cm, the other 2 sides are
(A) 5cm, 7cm

(B) 5cm, 12 cm

(C) 6cm, 13cm

(D) None of these

If the polynomial 2x? + 3x + 1 is divided
by x + 2, the remainder obtained is

(A) -3
(B) 0
(C) 3
(D) None of these

The product of HCF and LCM of
2 numbers is 216. If one of 2 numbers
is 18, the other number is

(A) 9
(B) 12
(C) 14
(D) None of these

Value of sin10°.cos80° + cos10°-sin80° is
(A) 1

(B) 0

(C) Can't be found

(D) None of these

If tan(A + B) = +/3 and tan(A —B) = ?/%
0°<A+B<90° A>Bthen AandB
are respectively
(A) 45°, 15°
(C) 45°, 60°

(B) 60°, 45°
(D) 60°, 15°

108.

110.

131

K12

D O A

The coordinates of the point which
divides the join of (-1, 7) and (4, -3) in
the ratio 2 : 3 are

(A) (3,1)

B) (-1,3)

€ (1,3

(D) None of these

Which of the following cannot be the
probability of an event ?

(A) 10%

B)
(C) 0.7

wln

(D) 1.2

The mean of 20 observations was found
to be 10. On rechecking, it was found
that an observation 10 was incorrect.
The correct mean of 19 observations if
the wrong one is omitted is

(A) 10.9

(B) 10.1

(C) 9

(D) None of these

Value of L + !

1435 143X

(A) O
(B) 2
C) 1
(D) None of these



IO 0 O 0 O

104. UF GHHI]

105.

106.

107.

108.

27~

AIoT ISt st g $9e STTER |
784 FAE AR 1300, %, Ao

31 eTd &

(A) 537, 79,
(B) 531, 1284,
(C) 6@, 1371

(D) 378 & 1 7

g 22 + 3Xx +1H x+27
Tl s g, oA I &

(A) -3
(B) 0
©) 3
(D) T8 & F1$ T

2 TSl o WY 3R T HT U
216 ® | 32 2 Tl A ¥ T 18 B, I3
TR

(A) 9

(B) 12

(C) 14

(D) TTH & IS e

sin10°.cos80° + cos10°-sin80° T W &
(A) 1

(B) 0

(C) 3ma & fekam <1 |t

(D) T & IS T

]
3 tan(A + B) = V33K tan(A—B) = =
0°<A+B<90°,A>BWAIRNBFAM: &
(A) 45°, 15° (B) 60°, 45°

(C) 45°, 60° (D) 60°, 15°

109.

110.

111:

112.
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(~1,7) 3R (4,-3) FSNS HI 2 : 3% I
% faifora i are foig & fdrss @
(A) (3,1)

(B) (-1,3)

€) (1,3

(D) T & 13 e

Frafafaa § 9 e v g 6 wiRea
et B Fehdl ?

(A) 10%
2
® 3
(C) 0.7
D) 1.2 -

20 Y&l T WY 10 I BT ® |
T S A W IR T R u e
10 TG o7 | IS TTera ggaEr i e
fea S At 19 wAETOT 1 wE HeT B

(A) 10.9

(B) 10.1

(C) 9

(D) T & g T

1 1
+
1+8% 1+3*
(A) O
(B) 2
) 1

(D) T & i3 T

HAH &
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114,

115.

116.
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A metallic sphere of radius 4.2 cm is
melted and recast into the shape of a
cylinder of radius 6 cm. The height of
the cylinder is

(A) 2.744
(B) 3.2
C) 7
(D) None of these

A fraction becomes % if 2 is added to

both the numerator and the denominator
and if 3 is added to both the numerator

and denominator it becomes % Then
the fraction is

(A) (B)

Wl o

(C) (D)

Bl Ol

The sum of the digits of a two digit
number is 9. Also 9 times this number is
twice the number obtained by reversing
the order of the digits. The number is

(A) 63
(B) 18
(C) 81
(D) 36

Two numbers are in the ratio 5 : 6 and
if 12 is subtracted from each of them,
the resulting ratio becomes 3 : 4. The
numbers are

(A) 30and 36
(B) 15 and 18
(C) 20and 24
(D) None of these

117:

118.

118.

120.

R0 0 0 O A

Kamal is five times older than her sister
Veenu. Veenu is 2 years younger than
her brother Vipul. If Vipul is 10 years
old, then the age of Kamal is

(A) 50 years
(B) 40 years
(C) 35years
(D) None of these

If the average age of 10 boys in a class
is 16 years, the sum of their ages is

(A) 16 years

(B) 120 years
(C) 135years
(D) 160 years

If the pair of equations, 4x + py + 8 = 0
and 2x + 2y + 2 = 0 has unique solution,
then p is not equal to

(A) 4 (B) -2
(€ 38 (D) 1

If 20 men can do a job in 90 days. The
number of days required for 30 men to

do the same job is

(A) 45 days
(B) 60 days
(C) 135days

(D) None of these
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(A) 2.744

(B) 3.2

©) 7

(D) T & IS TE
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116

116.

m@mgamﬁmﬁa%
(A) (B)

Wi o

(©) (D)

Alw O]

Teh &1 3eh! oh TE&AT & 3hi FIAM O ? | 2
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(A) 63

(B) 18
(C) 81
(D) 36

T AT 5 : 6% SFUTa A & IRy
# ¥ 12 "er fean S at i sheme
3: 4% Va1 | g §

(A) 3037 36
(B) 15 3R 18
(C) 20 3 24
(D) 37 & 1S el
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120.
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(A) 503

(B) 40 =

(C) 358

(D) & 1S e

T T H 10 A i 37d 271g 16 9
, I Y H AR

16 99

120 9

135 =

160

(A)
(B)
(©)
(D)

i 4x + py + 8 =03 2x +2y +2=0
THIFT F YW FT CF 91 ' 8, a1 p
 qUEL T8I 8

B) -2

(D) 1

(A) 4
©) 3
g 20 wafFT T F™ & 90 faAi 7 qui

FLHFA &, d 30 Ffedl i 98 FE FH
o feraHT wm o 2

(A) 45T
(B) 60T
(C) 135TA
(D) 370§ =g &
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121,

122,

123.

124.

125.
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iv) Hindi Language and Comprehension
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(A) ST -HTeT
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135.
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v) English Language and Comprehension
FTSA AT 3T Y

Each of these questions presents a word that
may have been spelt incorrectly. From the
choices provided pick the correct spelling and
mark that option as of the right choice as the
answer.

161. Sincier
(A) Sinceir (B) Sinsere
(C) Sincere (D) Sincire
162. Apposete
(A) aposite (B) apposit

(C) appusite (D) apposite

Fill up the blanks with appropriate articles from
among the choices given below.

163. Einstein is Newton of our

age.
(A) the

164.

)
) the
) none of these

Fill in the blank by choosing the appropriate
clause form from among the choices.

165. Colin told me about his new job,
very much.

he’s enjoying it
that he's enjoying
which he’s enjoying
he's enjoying

(A)
(B)
(C)
(D)

-34-

Read each sentence to find out whether there

is any error in it. The error, if any, will be one

part of the sentence, the choice of that part is

the answer.

166. I'll never/ support him even though /
(A) (B)

it costs me / my job.
©) (D)

167. Solar storms are caused by coronal mass
(A)
ejections / if billions of tons of energetic
(B)
particles / travelling at a / million miles
(©)
per hour are explosively released.

(D)

168. The deal / will help Aston Martin neither /
(A) (B)
to spread the cost or develop / new fuel
©) (D)

efficient vehicles.

Add suitable question tags to the following
statements from among the choices given
below them.

169. She was very modest, ?
(A) was she
(B) were she
(C) isshe
(D) wasn't she
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170. Mr. and Mrs. Sharma are very generous,
?

(A)

(B)

(C)

(D)

are they
aren’t they
isn't he
were they

Fill in the blanks with suitable prepositions from
among the choices given below them.

171. | prefer tea coffee.
(A) to

(B) than

(C) against

(D) over

172. Why were you so unfriendly

Tessa ? Have you had an argument
with her ?
(A) of

(©) to

(B) for
(D) with
173. | am not very good
things.

(A) at

(B)
(C) in
(D) about

repairing

Choose the correct form of the verb from
among the choices given below them and fill
in the blanks.

174. We to the pictures last night.
(A) had gone
(B) had went
(C) went
(D) have gone

-35-
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175. Seethatyou
in time.
(A) will come
(B) would come
(C) should come
(D) come

for the meeting

176. Ashok Kumar in films for sixty
years before the end of this year.

(A) will have been acting

(B) had been acting

(C) has been acting

(D) none of these

Select the word that is most similar in meaning
(synonym) to word given in the question.

177. Degenerate

(A) reject (B) abstain

(C) dismiss (D) worsen
178. Malice

(A) concern (B) grief

(C) hatred (D) sloth

Select the word that is opposite in meaning to
the word given in the question.

179. Mobile
(A) alter
(C) amend

(B) vary
(D) static
180. Disperse
(A) calm
(B) assemble
(C) loiter
(D) reflect
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Fill in the blanks in the following sentences
using the appropriate articles from among the
choices given below them.
181. We have signed MOU with

Johnson and Johnson.

(A) an (B) a

(C) on (D) not required
182. It has been one-man show.

(A) an

(B) a

(C) the

(D) none of these
183. Sheis
age.
(A) a
(B) an
(C) the
(D) no article required

Jane Austen of present

Fill in the blanks in the following sentences
with the appropriate prepositions from among
the choices given below them.

184. | will be home in the evening.
(A) in (B) on
(C) at (D) by
185. The child ran the road.
(A) between (B) with
(C) across (D) into
186. The soldiers discussed the matter
themselves.
(A) with (B) besides

(C) between (D) among

U O 0 1

Fill up each blank with a suitable adjective
from among the choices given below each
sentence.

187. Thereis money in my purse.
(A) some (B) any
(C) few (D) much

188. Can you lend me books to
read ?
(A) few (B) any
(C) some (D) little

Add suitable question tags to the following
statements from among the choices given
below them.

189. People weren’t willing to contribute
money towards flood relief, ?

(A) isn'tit

(B) was they
(C) were they
(D) won't they

190. Too many cooks spoil the broth,

2
(A) are they
(B) don't they
(C) dothey
(D) aren’t they

Three of the four words given below are spelt
wrongly. Select the word that is spelt correctly.

191.

—_—

A) grievance
B) greivance
C) grieevanse

) greivanze

—_—

Dr"-'\

(
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192. (A) hierarchical
(B) heirarkikal
(C) highrarchical

(D) heirarckhical

Fill in the blanks with the appropriate forms of
the verbs given in brackets.

settled in

193. One of my brothers
USA (have).
(A) have
(B) has
(C) have been
(D) none of these

Either Namratha or |
be selected (be).

(A) is

(B) am
(©)
(D)

194. going to

are
were

Pick out the most effective word from the given
words to fill in the blank to make the sentence
meaningfully complete.

195. He avoids eating junk food
because it is not good for the health.

(A) highly
(B) poorly
(C) greatly
(D) usually

MKG-XXV/GENWO/1T/02

196. Meena loved to shop and went out with

her friends she got time.
(A) while (B) whenever
(C) at (D) as

Select from among the choices, the word that is
similar (synonymous) in meaning to the question
word.
197. Retentive

(A) secretive

(B) not forgetful

(C) experimental

(D) grasping and greedy

Insomnia

(A) Drowsiness
(B) Restiveness
(C) Sleeplessness
(D) Laziness

198.

Select the word that is opposite in meaning
(antonym) to the word given in the question.

199. Quixotic
(A) Practical
(B) Imaginary
(C) Fantastic
(D) Romantic
200. Desperate
(A) Calm
(B) Ruffled
(C) Disturbed
(D) Indifferent

“37=
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SPACE FOR ROUGH WORK
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iftgami o feru wewagut srew

13,
14,

15

17

18.

19.

This booklet contains 40 pages.

Directions : Each gquestion or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

O®0O

Wrong Method

Q000

Caorrect Method|

O®e0O0

Wrong Method

0@®0O0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

13.

14.

15.

16.

17.

18.

19.
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Go through instructions given in Page No. 1 (Facing Page)
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